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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 8 rFkk iz'u 33 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains  33 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekUlkekUlkekUlkekU; funsZ'k %; funsZ'k %; funsZ'k %; funsZ'k %    
General Instructions : 

 (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    
  All questions are compulsory. 

 (ii) ç'u la[;k 1 ls 3 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 8 vadksa dk gS rFkk buesa vkUrfjd NwV 
miyC/k gSA 

  Question No. 1 to 3 are long answer type questions. Each question carries    

8 marks. Internal choice is available in these questions. 

 (iii) ç'u la[;k 4 ls 9 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 4 vadksa dk gSA 
  Question No. 4 to 9 are short answer type questions. Each question carries   

4 marks.  

 (iv) ç'u la[;k 10 ls 17 rd vfry?kq mÙkjh; ç'u gSaA çR;sd ç'u 2 vadksa dk gSA 
  Question No. 10 to 17 are very short answer type questions. Each question 

carries 2 marks.  

 (v) ç'u la[;k 18 ls 23 rd ds mÙkj dqN gh 'kCnksa esa nsus gSa rFkk ç'u la[;k 24 ls 33 rd 
cgqfodYih; ç'u gSaA fn, x, fodYiksa esa ls lghlghlghlgh mÙkj pqfu,A çR;sd ç'u 1 vad dk gSA 

  Question No. 18 to 23 are to be answered in a few words and Question No. 

24 to 33 are multiple choice questions. Choose the correct answer from 

given options. Each question carries 1 mark.  
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  1. fodsUæhdj.k dh ifjHkk"kk nhft,A fodsUæhdj.k ds dksbZ N%N%N%N% egÙo crkb,A 2 + 6 = 8 

 Define decentralisation. State any six  importance of decentralisation. 

vFkokvFkokvFkokvFkok    
OR 

 vukSipkfjd laxBu dk D;k vFkZ gS \ vukSipkfjd laxBu dh dksbZ N%N%N%N% fo'ks"krk,¡ crkb,A 2 + 6 = 8 
 What is the meaning of informal organization ? State any six features of 

informal organisation.  

  2. fu;qfDrdj.k dh ifjHkk"kk nhft,A fu;qfDrdj.k ds dksbZ N%N%N%N% egÙo crkb,A 2 + 6 = 8 

 Define Staffing. Explain six importance of staffing.  

vFkokvFkokvFkokvFkok    
OR 

 çf'k{k.k dh ifjHkk"kk nhft,A ^dk;Z ls ijs çf'k{k.k* dh dksbZ N%N%N%N% çf'k{k.k fof/k;ksa dk o.kZu dhft,A 
2 + 6 = 8 

 Define Training. Explain any six 'Off-the-Job Training' methods.  

  3. O;fDrxr foØ; dk vFkZ fyf[k,A foKkiu ,oa O;fDrxr foØ; ds e/; varj ds dksbZ N%N%N%N% fcUnq crkb,A 
 2 + 6 = 8 

 Write the meaning of personal selling. State six points of differences between 

Advertising and Personal Selling. 

vFkokvFkokvFkokvFkok    

OR 

 iSdsftax ds dksbZ pkjpkjpkjpkj dk;ks± rFkk oLrqvksa ds HkkSfrd forj.k ds pkjpkjpkjpkj rÙoksa dk o.kZu djsaA 4 + 4 = 8 

 Explain four functions of packaging and explain any four elements in physical 

distribution of products.  

  4. çca/k fl)karksa ds dksbZ pkjpkjpkjpkj egÙo le>kb,A 4 

 Explain any four importance of principles of management. 
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  5. fu;e ,oa dk;Zfof/k esa dksbZ pkjpkjpkjpkj varj crkb,A 4 

 State any four differences between rule and procedure. 

  6. fu;a=.k dh dksbZ pkjpkjpkjpkj lhek,¡ le>kb,A 4 
 Explain any four limitations of Control.  

  7. fdlh laxBu esa fofu;ksx fu.kZ; dks çHkkfor djus okys fdUgha pkjpkjpkjpkj ?kVdksa dk o.kZu dhft,A 4 
 Explain any four factors affecting Investment Decision in an organisation.  

  8. ^çkFkfed cktkj* ,oa ^xkS.k cktkj* esa dksbZ pkjpkjpkjpkj vUrHksZn dhft,A 4 

 State any four differences between 'Primary Market' and 'Secondary Market'.  

  9. m|fe;ksa ds vkfFkZd fodkl ls tqM+s fdUgha pkjpkjpkjpkj dk;ks± dk o.kZu dhft,A 4 

 Explain any four functions of entrepreneurs in relation to Economic 

Development. 

10. çca/k ds fdUgha nksnksnksnks mn~ns';ksa dk laf{kIr o.kZu djsaA 2 
 Explain in brief, any two objectives of management.  

11. ^^çcU/k ,d dyk gSA** blds i{k esa dksbZ nksnksnksnks rdZ nhft,A 2 

 "Management is an art." Give any two argument in its favour.  

12. fu;kstu dh dksbZ nksnksnksnks fo'ks"krkvksa dk o.kZu dhft,A 2 

 Explain any two features of Planning.  

13. deZpkfj;ksa ds vfHkçsj.kk gsrq ç;ksx fd, tkus okys fdUgha nksnksnksnks     foÙkh; çksRlkguksa dk o.kZu dhft,A 2 

 Explain any two Financial incentives used for motivating the employees.  

14. vaxwjhyrk laçs"k.k ds fdUgha nksnksnksnks ra=ksa dk o.kZu dhft,A 2 

 Explain any two networks of grapevine communication. 
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15. ^eqæk cktkj* dh çÑfr ds dksbZ nksnksnksnks fcanq fyf[k,A 2 

 Give any two points about the nature of 'Money Market'. 

16. miHkksDrk laj{k.k vf/kfu;e ds varxZr LFkkfir ^jkT; vk;ksx* dh dksbZ nksnksnksnks fo'ks"krk,¡ crkb,A 2  

 Explain any two features of 'State Commission' established under Consumer 

Protection Act.  

17.  miHkksDrk laj{k.k vf/kfu;e ds varxZr miHkksDrk dks miyC/k dksbZ nksnksnksnks jkgr ds ckjs esa o.kZu dhft,A 2 

 Explain any two relief/remedies available to consumers under Consumer 

Protection Act.  

18. ^^fØ;kRed QksjeSuf'ki** uked çcU/k i)fr dk fodkl fdlus fd;k \ 1 

 Who propounded the "Functional Foremanship" technique of management ?  

19. ^m/kkj foØ; ls 10 fnu esa m/kkj olwy u gksus ij 6% okf"kZd dh nj ls C;kt yxsxkA* ;g dFku 
;kstukvksa ds fdl çdkj ls lacaf/kr gS \ 1 

 'Interest will be charged at the rate of 6% per annum, if credit is not recovered 

within 10 days of credit sales.' This statement is related to which type of plans ?   

20. ekLyks dh vko';drk Øe fopkj/kkjk ds vuqlkj] laca/ku vFkok lkekftd vko';drk,¡ crk, x, ik¡p 
Øe esa fdl LFkku ij vkrh gSa \ 1  

 As per the Maslow's need hierarchy theory, at which place the Affiliation or 

Social Needs are placed in five orders of needs ?  

21. fdLe çeki] çca/k ds fdl dk;kZRed {ks= esa ç;ksx gksus okyk çeki gS \ 1 

 In which functional area of management, Quality standard is used ?  

22. ^^fofu;ksx ij vk; (ROI)** fudkyus dk lw= fy[ksaA 1 

 Write formula to calculate "Return on Investment (ROI)".  

23. NSE ds lwpdkad dks D;k dgrs gSa \  1 

 What is Index of NSE called ?  
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24. vYilwpuk _.k lokZf/kd ---------- gksrs gSaA 1  

 (A) LFkkbZ (B) rjy 
 (C) egaxs (D) lLrs  
 Call money or call loans are ………. . 

 (A) Fixed  (B) Liquid  

 (C) Costly  (D) Cheap  

25. Hkkjr esa ^ys[kk'kkL=* ds is'ks ds fy, LFkkfir çfrfuf/k la?k dk uke gS % 1 

 (A) esfMdy dkmfUly vkWQ bf.M;k  

 (B) baLVhV~;wV vkWQ pkVZMZ ,dkmaVsaV~l vkWQ bf.M;k 
 (C) ckj dkmfUly  vkWQ bf.M;k  

 (D) vkWy bf.M;k eSustesUV ,slksfl,'ku  
 Which of the following is the representative professional association in India    

for the profession of a 'Accountant' ? 

 (A) Medical Council of India  

 (B) Institute of Chartered Accountants of India  

 (C) Bar Council of India  

 (D) All India Management Association  

26. fuEufyf[kr esa ls dkSu-lk dk;Z fuEuLrjh; vFkok ifjpkyu çcU/k ds vUrxZr eq[; dk;Z ds :i esa 
lfEefyr fd;k tkrk gS \ 1 

 (A) mn~ns'; fu/kkZfjr djuk  

 (B) uhfr;ksa dh O;k[;k djuk 

 (C) Jfedksa dh ihM+k dks çsf"kr djuk 

 (D) mi;qZDr esa ls dksbZ ugha 

 Which of the following is considered as one of the main function of Lower Level 

or Operational Management ?  

 (A) Determining Objectives  

 (B) Interpreting Policies  

 (C) Submitting Workers' Grievances  

 (D) None of the above  
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27. fuEufyf[kr esa ls dkSu-lk mRiknu foHkkx ds fo'ks"kK dk;Z ds varxZr lfEefyr fd;k tkrk gS \ 1 
 (A) dk;ZekxZ fyfid (B) ladsr dkMZ fyfid 
 (C) fujh{kd (D) vuq'kklu vf/kdkjh 
 Which of the following is considered as Specialist of Production Department 

Functions ?  

 (A) Route Clerk  (B) Time and Cost Clerk 

 (C) Inspector (D) Discipline Officer 

28. og ;kstuk tks okrkoj.kh; voljksa o [krjksa rFkk laxBukRed lqn`<+rk o dfe;ksa dks ns[krs gq, laxBu o 
okrkoj.k esa vuqdwyre laca/k LFkkfir djrh gS] dgykrh gS %  1  

 (A) mn~ns'; (B) uhfr 
 (C) ctV (D) mi;qZDr esa ls dksbZ ugha 
 The plan which takes into account the environmental opportunities and threats 

and organisational strengths and weaknesses and provides an optimal match 

between the organisation and the environment is known as :  

 (A) Objective  (B) Policy  

 (C) Budget (D) None of the above  

29. ukjk;.k ewfrZ fuEu daiuh ds çHkkoh usrk jgs gSa % 1 

 (A) ekbØkslkW¶V (B) fjyk;al baMLVªht 
 (C) foçks (D) baQksfll 
 Narayan Murthy has been the effective leader of the following company : 

 (A) Microsoft (B) Reliance Industries  

(C) Wipro (D) Infosys 

30. fuEu esa ls lsfooxhZ; çca/k ls lacaf/kr çeki dkSu-lk gS \ 1  

 (A) çfr O;fDr mRiknu (B) fcØhdrkZvksa dk y{;  
 (C) vuqifLFkfr nj (D)  iw¡th çokg 
 Which of the following is related to the Personnel Management ? 

 (A) Individual production  (B) Target of sales-persons  

 (C) Absenteeism Rate  (D) Flow of capital  
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31. pkyw lEifÙk;ksa ,oa pkyw nkf;Roksa ds varj dks ------------- dgrs gSaA 1 

 (A) 'kq) dk;Z'khy iw¡th (B) ldy dk;Z'khy iw¡th 

 (C) LFkk;h iw¡th (D) dk;Z'khy iw¡th 

 The difference between current assets and current liabilities is called ……….. . 

 (A) Net working capital  (B) Gross working capital  

 (C) Fixed capital  (D) Working capital 

32. foÙkh; O;kogkfjdrk dk vfHkçk; ---------- ls gSA 1 
 (A) ykHk (B) foÙk  
 (C) okf.kfT;d fØ;kvksa (D) ljdkjh vuqefr  
 Financial feasibility means ……….. . 

 (A) Profit  (B) Finance  

 (C) Commercial Activities  (D) Government Permission  

33. lkeF;Z o bPNk nksuksa dh U;wure ek=k fuEu esa D;k n'kkZrh gS \ 1  

 (A) m|eh rS;kj ugha  

 (B) rS;kj m|eh 
 (C) bPNqd m|eh 
 (D) {kerkoku m|eh  
 What does the minimum quantity of both the ability and willingness show ?  

 (A) The entrepreneur is not ready  

 (B) Ready entrepreneur  

 (C) Eager entrepreneur   

 (D) Potential entrepreneur 

S 


